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Part A

Section Id : 920906493
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 21
Number of Questions to be attempted : 21
Section Marks : 100
Enable Mark as Answered Mark for Review and Clear Yes
Response :
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906801
Question Shuffling Allowed : No
Is Section Default? : null



Question Id : 92090624903 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Question Numbers : (1 to 5)
Question Label : Comprehension

= faw 7u veriy @) vge FafafE udl & s o

wila SRR ST g, 81 Sl Uy W A Fel,

e uir g1, Tl \ivd, 7d o d 1 @ @ el
ST8-a1 gU-gWE To0d, YHE Tadl Uy $1 TS
forg-f59 9 oy W Eg fien, 39-39 U8 & 44dre|

il I aaitad S, od Iad-aad IR 85,

gl Vg-vs iy 7, firell 19 Wi, y@mae R eS|
Uy & UgdH §e T, U WIY-91Y 9d W are-
forg-ford | uy 9R g fien, 39-39 et &1 ygdc|

Sl 91y 9 T € U, 3914 e YAl g3 STR?

# ot = = afe ot off &, I8 TR Afe I8 S|
S U4 R A g1 Iod 3, S goH &1 U1 T 61e
fory-fore @ oy Wy Wg firan, 39-39 W6l & 4drg|

Sub questions

Question Number : 1 Question Id : 92090624904 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR & STYR WX {74 wag] &1 Wel e @y -

A, &pfd
B. WHE
C. UgdEH
D. WUdlg
E. g

+r fau e fasedi # | 98l IR &1 99 Hifoe :

(1) A,BCD,E
(2 BDACE
(3) EDACB
4 BDCAE

Options :

92090698401. 1
92090698402. 2
92090698403. 3
92090698404. 4

Question Number : 2 Question Id : 92090624905 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'HRRR' g &1 faad| g -

(1) AS-HF HHAT (2) SrER™
3 R 4) g
Options :

92090698405. 1
92090698406. 2
92090698407. 3
92090698408. 4

Question Number : 3 Question Id : 92090624906 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g’ Ve B yaigarE § -

(1) Gl (2) HMAl
3) @ @ I
Options :

92090698409. 1
92090698410. 2
92090698411. 3
92090698412. 4

Question Number : 4 Question Id : 92090624907 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G WY A ¢ I U FugeR s gR -

(1) el (2) Tty
(3) uffed (@) HTEE
Options :

92090698413. 1
92090698414. 2
92090698415. 3
92090698416. 4

Question Number : 5 Question Id : 92090624908 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR U=l &1 Side g -

(1) SnuEE (2) UY B YIS
(3) fog-fo 8oy w e e @) Ty H el
Options :

92090698417. 1
92090698418. 2
92090698419. 3
92090698420. 4

Question Id : 92090624903 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)
Question Label : Comprehension

9 Ru g weriw @t vee Prafaf@ vl & sw e
wila SRR ST g, 81 Sl Uy W A Fel,
e uir g1, Tl \ivd, 7d o d 1 @ @ el
IE-aT8 YE-gE Teold, THIE Fedl Uy & UuTE
forg-f59 9 oy W Eg fien, 39-39 U8 & 44dre|
il I aaitad S, od Iad-aad IR 85,
&l Vig-veg i 11, fivelt 4a Wi, ydiae R ES)
Uy & UgdH §e T, U WIY-91Y 9d W are-
forg-forg ¥ gy o g e, 39-39 el &1 4gdig |
Sl 91y 9 T € U, 3914 e YAl g3 STR?
# ot = = afe ot off &, I8 TR Afe I8 S|
S U4 R A g1 Iod 3, S goH &1 U1 T 61e
fory-fore @ oy Wy Wg firan, 39-39 W6l & 4drg|

Sub questions

Question Number : 1 Question Id : 92090624904 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR & STYR WX {74 wag] &1 Wel e @y -

A, &pfd
B. WHE
C. UgdEH
D. WUdlg
E. g

+r fau e fasedi # | 98l IR &1 99 Hifoe :

(1) A,BCD,E
(2 BDACE
(3) EDACB
4 BDCAE

Options :

92090698401. 1
92090698402. 2
92090698403. 3
92090698404. 4

Question Number : 2 Question Id : 92090624905 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'HRRR' g &1 faad| g -

(1) AS-HF HHAT (2) SrER™
3 R 4) g
Options :

92090698405. 1
92090698406. 2
92090698407. 3
92090698408. 4

Question Number : 3 Question Id : 92090624906 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g’ Ve B yaigarE § -

(1) Gl (2) HMAl
3) @ @ I
Options :

92090698409. 1
92090698410. 2
92090698411. 3
92090698412. 4

Question Number : 4 Question Id : 92090624907 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WY F 3 IF AU Iugert wea g -

(1) el (2) ario
(3) uRfed (4) HTEE
Options :

92090698413. 1
92090698414. 2
92090698415. 3
92090698416. 4

Question Number : 5 Question Id : 92090624908 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR U=l &1 Side g -

(1) SnuEE (2) UY B YIS
(3) fog-fo 8oy w e e @) Ty H el
Options :

92090698417. 1

92090698418. 2

92090698419. 3

92090698420. 4

Sub-Section Number : 2
Sub-Section Id : 920906802
Question Shuffling Allowed : Yes



Is Section Default? : null

Question Number : 6 Question Id : 92090624909 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"Hdd B BIH-91 U Ggad g3 &7

(1) offd (2) ™
3) 3 (4) 9@
Options :

92090698421. 1
92090698422. 2
92090698423. 3
92090698424. 4

Question Number : 6 Question Id : 92090624909 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"Hdd B BIH-91 U Ggad g3 &7

(1) offd (2) ™
(3) o (4) fck
Options :

92090698421. 1
92090698422. 2
92090698423. 3
92090698424. 4

Question Number : 7 Question Id : 92090624910 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"3RI 1 A P 4 Ueg 87

(1) S (2) YdIdd
(3) HHH (4) S@F
Options :

92090698425. 1



92090698426. 2
92090698427. 3
92090698428. 4

Question Number : 7 Question Id : 92090624910 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

eI 1 fady S 91 I8 82

(1) 3 (2) ORI
(3) HHH 4) 3@
Options :

92090698425. 1
92090698426. 2
92090698427. 3
92090698428. 4

Question Number : 8 Question Id : 92090624911 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafaf@d 7 A IeTaT Heret &1 ug il @ -

(1) 3| & (2) <l R
(3) e @eH (4) 99O HIAT
Options :

92090698429. 1
92090698430. 2
92090698431. 3
92090698432. 4

Question Number : 8 Question Id : 92090624911 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFrfafad # 2 IaTaaT qeraR 1 uel 2 ¢ -

(1) 3OHIAT & (2) <l R
(3) T @A (4) SO HAT



Options :

92090698429. 1
92090698430. 2
92090698431. 3
92090698432. 4

Question Number : 9 Question Id : 92090624912 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S W U ‘Uda &1 g 8z

1y 94 2 ™
3) @H 4) faeu
Options :

92090698433. 1
92090698434. 2
92090698435. 3
92090698436. 4

Question Number : 9 Question Id : 92090624912 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P I Ie ‘Udd & FHERT 87

(1) 24 2 "™
3) @H (4) faeu
Options :

92090698433. 1
92090698434. 2
92090698435. 3
92090698436. 4

Question Number : 10 Question Id : 92090624913 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrefeafad 7 gg uss g~

A 3BT
B. LN
C. Joodd
D. UH@®R
E. KM

41 fau o fasedi § 9 Wal IR &1 994 Hifers -

(1) &daA DSRE
(2) @adA, B3RC
(3) &das, C3RD
(4) &ddB, D E
Options :

92090698437 1
92090698438. 2
92090698439. 3
92090698440. 4

Question Number : 10 Question Id : 92090624913 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frfafad 7 s e 8-

A SRHHA
B. UNUl
C. Qoudd
D. TYH&GR
E UM

9 fou v foeedi O 9§ 9el ST &1 994 i -

(1) &duA DSIRE
(2) &OuA BSIRC
(3) FdaB, C3RD
(4) &ddB, D E
Options :

92090698437. 1
92090698438. 2
92090698439. 3
92090698440. 4

Question Number : 11 Question Id : 92090624914 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR & (50 Heta Harag 3 20d 360 UIEd @1 Jo3Td Bl 87

(1)  Uded Hare™ (2) Wepia HA@Y
(3)  EY AR HA@Y (4) g "I
Options :

92090698441. 1
92090698442 2
92090698443. 3
92090698444. 4

Question Number : 11 Question Id : 92090624914 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YR & (50 Heta Harag 3 20d 360 UIEd @1 Jo3Td Bl 87

(1) odes vae™ (2) i HATE
(3)  3E™E AR HATGY (4) g "I
Options :

92090698441. 1
92090698442 2
92090698443. 3
92090698444. 4

Question Number : 12 Question Id : 92090624915 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

MEed 8 Uy 31 Faw Uiarga uold! 87

(1) dHEg (2) ToRId
(3) H¥a (4) fewet
Options :

92090698445. 1
92090698446. 2
92090698447. 3
920906984438. 4

Question Number : 12 Question Id : 92090624915 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ISy By Iy BT Fdw Uisared uoiH 87

(1) dHaIg (2) ORI
(3) @ (4) faen
Options :

92090698445. 1
92090698446. 2
92090698447. 3
92090698448. 4



Question Number : 13 Question Id : 92090624916 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafefad ¥ ¥ #H F9d RER e T8l 82

(1) g R (2) S 94 wA

(3)  SRUIEA (4) ST gl SERfIR HrHT
Options :

92090698449. 1
92090698450. 2
92090698451. 3
92090698452. 4

Question Number : 13 Question Id : 92090624916 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frefeifad o | & Tiad QR faerdr 78l 82

(1) fdws Ty 2R (2) B9l A

(3) SIS (4) BT GIHI SRR HTHT
Options :

92090698449. 1
92090698450. 2
92090698451. 3
92090698452. 4

Question Number : 14 Question Id : 92090624917 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ffafad o 9 &9 91 39 G 20' 1 955 781 7

(1) HRd (2) Hura
(3 dM (4) U9
Options :

92090698453. 1
92090698454. 2
92090698455. 3



92090698456. 4

Question Number : 14 Question Id : 92090624917 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ffafad o 9 &9 91 39 G 20' 1 955 781 7

(1) HRd (2) Hura
(3 =@M (4) TUHT
Options :

92090698453. 1
92090698454. 2
92090698455. 3
92090698456. 4

Question Number : 15 Question Id : 92090624918 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl | & 1y = 11 & e S

-l (4 UPR) T -l FUSER)
(A)  HRTACOH () HH "ERE
(B) HUD () Squf 2dt
(C) =gt () o HeR
(D) sifsHl (V) g Tt

i fau v famedi & | 9el I &1 994 P

(1) (A-am), B)-(n, (O, (D)-(IV)

(2) (A0, B)-(l), (O-(IV), (D)-()

(3)  (A-(, (B)-(11D), (O)-(1), (D)-(IV)
(

)-
(4) (A=), (B)-(In), (O-(), (D)-(IV)

Options :

92090698457. 1
92090698458. 2
92090698459. 3
92090698460. 4



Question Number : 15 Question Id : 92090624918 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

It | & |y gdl | & e S

-1 (78 JPR) Tl -1 (@R
(A)  HRTACIH () EET HERE
(B) HYUD () el &dt
(€ Pl () faRy HER
(D) ShfSH (v) T ¥t

912 fau ne fawedl § | TEl I &1 909 SIS
(1) (@)=, (B)-(11), (C)-(), (D)-(V)
(2) (A, (B)-(IIN), (C)-(1V), (D)-(1)
(3)  (A)-(D, (B)=(Il1), (C)-(1), (D)-(IV)
(4) (A0, (B)-(11), (C)-(II), (D)-(IV)

Options :

92090698457. 1
92090698458. 2
92090698459. 3
92090698460. 4

Question Number : 16 Question Id : 92090624919 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

% a9 ‘Bie’ § BROTHER &1 EQRSKDU fo/ar @ €, @1 RECENT &1 39 &I | &y foran
aTa?

(1) UHFHQW (2) QDBDMS
(3) UDFDQS (4) UDGDRS
Options :

92090698461. 1
92090698462. 2
92090698463. 3
92090698464. 4

Question Number : 16 Question Id : 92090624919 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

% a9 ‘Bie’ § BROTHER &1 EQRSKDU fo/ar @ €, @1 RECENT &1 39 &I | &y foran
aTa?

(1) UHFHQW (2) QDBDMS
(3) UDFDQS (4) UDGDRS
Options :

92090698461. 1
92090698462. 2
92090698463. 3
92090698464. 4

Question Number : 17 Question Id : 92090624920 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fé e wg # vEr wes g S gudd 4 fiE gl

(1) IHMES (2) 3fThfed e
(3) f%efd (4) U=
Options :

92090698465. 1
92090698466. 2
92090698467. 3
92090698468. 4

Question Number : 17 Question Id : 92090624920 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& 7T g § T s g o IR 9 A gl

(1) TGS (2) Sfidfed ed
(3) ofeRa 4) dfEeq
Options :

92090698465. 1
92090698466. 2
92090698467. 3



92090698468. 4

Question Number : 18 Question Id : 92090624921 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o: Telodl e, §191, a1, Sfde, ST SiR BIelHl U tidd H 3R 1 iR Hg & aa!
€1 I Sfae & e | 2 981 € S [ wed g1fgs RR R 31 1 S o SiR Ia71 &
i H €1 31 BIEH! SR Sfde1 & avra § A1g1 dal g1 i1 Bl SR &fde1 & &g 7 g1
1 & B g 1 82

(1) o1 (2) =a-
(3) 3R (4) I
Options :

92090698469. 1
92090698470. 2
92090698471. 3
92090698472. 4

Question Number : 18 Question Id : 92090624921 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o: Telodl ey, 141, a1, Sfde, 3T SfR BIelHl U tidd H IR &1 3R Hg Hd aa1
€1 a1 a1 & 7 | el 981 € o b e aife R uR 931 81 3iran st SiR a1 6
i H €1 31 BIEH! SR Sfde1 & avra § A1g1 dal g1 i1 Bl SR &fde1 & &g 7 g1
1 & B g 1 82

(1) o1 (2) =a-
(3) 3R (4) I
Options :

92090698469. 1
92090698470. 2
92090698471. 3
92090698472. 4

Question Number : 19 Question Id : 92090624922 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 1296, 648, 216, 108, 36, ........... H STl T&=1 1 gHil?

(1) 18 (2) 16
(3) 14 4) 12
Options :

92090698473. 1
92090698474. 2
92090698475. 3
92090698476. 4

Question Number : 19 Question Id : 92090624922 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST 1296, 648, 216, 108, 36, .......... H ST T=AT 1 gHHI
(1) 18 (20 16

(3) 14 4) 12
Options :

92090698473. 1
92090698474. 2
92090698475. 3
92090698476. 4

Question Number : 20 Question Id : 92090624923 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TE @1 UF vfed H faoy &1 wH ufdd & 98 R A 16 ™A R 8| a9y &1 wE ufda &
a1fe R & 2641 81 dfda & B3 &1 $a e F1d Fifen|

(1) 42 (2) 43
(3} 44 (4) 45
Options :

92090698477. 1
92090698478. 2
92090698479. 3
92090698480. 4



Question Number : 20 Question Id : 92090624923 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S B Us dfad H ooy &1 ®F fdd & a8 R ¥ 16 d ®H R ¢ | oy &1 ®F ufdd &
alfed R 9 2641 ¢ | dfda & o141 &1 $a 9= 91d Sifog|

(1) 42 (2) 43
(3} 44 (4) 45
Options :

92090698477. 1
92090698478. 2
92090698479. 3
92090698480. 4

Question Number : 21 Question Id : 92090624924 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

220l i s T 54 FFd F A A Wi SR A g pAA S a A s W@
s Afdd &1 UR F J 34 a1 99g awm?

(1) 308de (2) 20TFHe
(3) 259&HS 4) 22Tde
Options :

92090698481. 1
92090698482 2
92090698483. 3
92090698484. 4

Question Number : 21 Question Id : 92090624924 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

220 Hiex @il Ud ¢ 54 [d Sl i Y Srs W g1 S R A g A st o A drs 2@
Us fad ®1 IR & H 54 fdsd=1 999 @R

(1) 309Hs (2) 20¥UFs
(3) 254°&HS (4) 22Tds

Options :



92090698481. 1
92090698482. 2
92090698483. 3
92090698484. 4

Question Number : 22 Question Id : 92090624925 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HOH & & W, U 94 & YR 416l R $ol YA ayl &1 a1 & dehdie orel IR $d
Y=RIRT (TSeh ST UR) &1 S{[UTd 3 : 4 §| O s4TS 3 b1 HIF &1 gHII?

(1) 15% % @ 20%
3) 33;— % @ 30%
Options :

92090698485. 1
92090698486. 2
92090698487 3
92090698488. 4

Question Number : 22 Question Id : 92090624925 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HOH & & W, U 94 & YR 416l R $ol YA ayl &1 a1 & dehdie orel IR $d
Y=RIRT (TSeh ST UR) &1 S{[UTd 3 : 4 §| O s4TS 3 b1 HIF &1 gHII?

(1) 15% % @ 20%
3) 33;— % @ 30%
Options :

92090698485. 1
92090698486. 2
92090698487. 3
92090698488. 4

Question Number : 23 Question Id : 92090624926 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

A 3R B & Wda 92N § o fb P{AuE}:% 3R P[E):% dl P(A) BTHA &

3 4

(1) 2 (2) 3

I 3

(3) 5 (4) 5
Options :

92090698489. 1
92090698490. 2
92090698491. 3
92090698492 4

Question Number : 23 Question Id : 92090624926 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 9IR B 2w ge E I B P(4UB)- I IR P[E}:% il P(A) B1THA &
3 4

(1) g (2) =
! 3

(3) 5 (4) 5

Options :

92090698489. 1
92090698490. 2
92090698491. 3
92090698492. 4

Question Number : 24 Question Id : 92090624927 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
afg 3x+4y =60 3R 4x+3y =59, T x+y B HHA RGN

(1) 17 (2) 15
(3) 16 (4) 18

Options :



92090698493. 1
92090698494. 2
92090698495. 3
92090698496. 4

Question Number : 24 Question Id : 92090624927 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Ofg 3x+4y =60 3R 4x+3y =59, Tl x+y &I {1 g2

(1) 17 (2)y 15
(3) 16 (4) 18

Options :

92090698493. 1
92090698494. 2
92090698495. 3
92090698496. 4

Question Number : 25 Question Id : 92090624928 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 39 a@H sl & dod B Hals U HIYR & A § W g, ogd ¥ HiEsad I
TR &1 UF Tl Hled Hard fom S g1 39 uisan § oud aes! &1 ufawd fa g2

(1) 100/3 % (2) 80/3 %
(3) 70/3 % (4) 30%
Options :

92090698497. 1
92090698498. 2
92090698499. 3
92090698500. 4

Question Number : 25 Question Id : 92090624928 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 3T AP Sl & a0 B Hals 3UE YR P A F R ¢, ogd I g HIad
PR BT UF Ml BIed Fard fod a1 g1 39 Ui § o0 aes! &1 ufawd faean g2

(1) 100/3 % (2) 80/3 %
(3) 70/3 % (4) 30%
Options :

92090698497. 1
92090698498. 2
92090698499. 3
92090698500. 4

Part B: Ancient Indian History

Section Id : 920906494
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906803
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090624929 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who was the first person to periodize Indian history?
1. Richard Jones
2. Henry Maine
3. James Mill
4. M. Elphinstone
Options :

92090698501. 1
92090698502. 2



92090698503. 3
92090698504. 4

Question Number : 26 Question Id : 92090624929 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR S8 $ SIawH! H died aral uyH [dgr &4 ur?
1. =8 o

2. eRIAEA

3. o fid

4. TH. T4
Options :
92090698501. 1
92090698502. 2

92090698503. 3
92090698504. 4

Question Number : 27 Question Id : 92090624930 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which historian emphasised the cultural supremacy of the brahmanas and
also highlighted the harmony that prevailed in early Indian Society?
1. V. A. Smith

2. K. A Nilakanta Sastri
3. R. G. Bhandarkar
4. Rajendra Lal Mitra

Options :

92090698505. 1
92090698506. 2
92090698507. 3
92090698508. 4

Question Number : 27 Question Id : 92090624930 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fora sfaera®R A FRIvl &t Uik fw Ierdl W ad [T 8, aul UreH YR
HHTS 7 T TIETs U3 YTl STal 87

. dt.u ey

. & U Alah s

AR Gl HERHT

. i g i

Options :

92090698505. 1
92090698506. 2
92090698507 3
92090698508. 4

Question Number : 28 Question Id : 92090624931 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the
other is labelled as Reason (R):
Assertion (A): D. D. Kosambi blazed a new trail in Indian History.
Reason (R): His treatment follows a materialistic interpretation of history.
In the light of the above statements, choose the correct answer from the
options given below:

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is NOT the correct explanation of

(A)
3. (A) is correct but (R) is not correct

(A) is not correct but (R) is correct

Options :

92090698509. 1
92090698510. 2
92090698511. 3
92090698512. 4

Question Number : 28 Question Id : 92090624931 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4 S HYF 8. TP AUl (assertion A) %Fﬂﬁﬁf@ﬁ%?ﬂmm
DR (Reason R]%’J‘F‘Iﬁl

Assertion A : B2l HIAME] 4 Hﬂ?ﬁﬂ%ﬁﬁﬁlﬂﬁﬁ mﬂﬁ'@'ﬁcl
Reason R : 3814 3ideTd &1 U& HifddHard] SIRaT &1 |

TURIERT HYAT S UHT H A [ T fasedl § 8 el IR &1 99 Hifo :
ATYI RGIF! UEl § TUTR, A D] el IR B

A TUIR 1 UEl & AP R, A DT WS AR 81 3

A T & dfdA r 9 181 8

A TE! 71E1 § b R UG B

oo pa

Options :

92090698509. 1
92090698510. 2
92090698511. 3
92090698512. 4

Question Number : 29 Question Id : 92090624932 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

LIST | [LisT Il
A. |D. D. Kosambi |. History and Culture of the Indian People
The Civilization of Ancient India in Historical
B. [K. P. Jayaswal Il ,
Outline
C. |R. C. Majumdar lll. Hindu Polity

D. K. A, Nilakanta Sastri | IV. |A History of Ancient India
1. A-ll, B-IV, C-1II, D-I
2. A-ll, B-lll, C-1, D-IV
3. A-l, B-li, C-I, D-IV
4. A-lll, B-II, C-1V, D-I

Options :

92090698513. 1
92090698514. 2
92090698515. 3
92090698516. 4

Question Number : 29 Question Id : 92090624932 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Tt - 1 &1 gt - 1 & 9y e S

R | uelll
A. [E1. Sl st . [% uvg Fer o & Sfey diud

& FfaergorRm sie vl 3fsan

B. [&. Ul. SraHard I, R

C. BR. UL AHER | . @] Wiferdt

D. [&. U tadaardl | Iv. [u iR offth waiRm= 3igan

A-ll, B-IV, C-lll, D-I

A-l1, B-1II, C-1, D-1V

A-l, B-llI, C-Il, D-IV

A-llL, B-11, C-1V, D-I

il ol B

Options :

92090698513. 1
92090698514. 2
92090698515. 3
92090698516. 4

Question Number : 30 Question Id : 92090624933 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following deals with the diagnosis and treatment of the major
diseases of elephants?

1. Hastyayurveda

2. Shrangadhara Samhita

3. Ashtangahridaya

4. Sushurta Samhita

Options :

92090698517. 1
92090698518. 2
92090698519. 3
92090698520. 4

Question Number : 30 Question Id : 92090624933 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafefaa o § e eifgt @t wira Sl & Fem 9w SueR @19uH 82

. 8% emgde
YR Higdl
. 3P g

. gy wfea

Options :

92090698517 1
92090698518. 2
92090698519. 3
92090698520. 4

B oM

Question Number : 31 Question Id : 92090624934 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in correct chronological order:
A. Sushruta Sambhita
B. Ashtangahridya
C. Kashyapas Compendium
D. Charak Samhita
E. Sharngadhara Samhita
Choose the correct answer from the options given below:
L BALERE
2. CDABE
3. D.ABCE
4. DA CEB
Options :
92090698521. 1
92090698522. 2

92090698523. 3
92090698524. 4

Question Number : 31 Question Id : 92090624934 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafafad &1 bl &1 HHuR safd Sl -
A. gyd dfga

B. 3FNIgad
C. Y IR YIS

D. T Hfgdl

E. ST Tfgal

FAafeiad fdeedl § 9 wgl 3<% &1 94 Sifo ;
. B.AC,DE

C,D,ABE

D.A,B,CE

DA CEB

Bow N

Options :

92090698521. 1
92090698522. 2
92090698523. 3
92090698524. 4

Question Number : 32 Question Id : 92090624935 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to the Mahayan doctrine of trikaya (three bodies), the Nirmana-
kaya refers to:
1. The limitless forms that could be adopted by a Buddha to appear
before and teach the bodhisattvas for their enjoyment.
2. To preside over his own Buddha land.
3. Different forms assumed by the Buddha on the earth out of
compassion for people.
4. The ultimate and essential Buddhaness.

Options :

92090698525. 1
92090698526. 2
92090698527. 3
92090698528. 4

Question Number : 32 Question Id : 92090624935 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR 1 FGH ((fH-IR) &1 SauUR & SR i s &1 314 8
1. 95 g Sl & ARG & ford uehe g9 aul g e & 35w 8
U8yl {8 T 3fFd =)
2. G35 GRS §5ad W fUPR |
3. g% gRI 4Rdl T & ufd s&un 8 Ui g fafts i & yro
BT |
4. IaH g5 D1 FRUfd

Options :

92090698525. 1
92090698526. 2
92090698527. 3
92090698528. 4

Question Number : 33 Question Id : 92090624936 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following was not among the Indian monks or monks of
Indian origin who travelled to china?

1. Kumarajiva

2. Parmartha

3. Bodhidharma

4

. Cosmas

Options :

92090698529. 1
92090698530. 2
92090698531. 3
92090698532. 4

Question Number : 33 Question Id : 92090624936 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fgfafaa o 8 98 &1 91 URdTg g1 YR ga &1 e 78 o1 o 99
R &1 Al

HHRSI

A

qifded

e ot

PIHHE

B s

Options :

92090698529. 1
92090698530. 2
92090698531. 3
92090698532. 4

Question Number : 34 Question Id : 92090624937 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement I: A major success for Ajatshatru was his victory over the
Lichchhavis.
Statement II: Realizing that he would not be able to defeat them in direct
combat, Ajatshatru sent his minister Vassakra on an undercover mission to
slowly but surely create dissension within their ranks.
In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement |l is incorrect

4. Statement | is incorrect but Statement |l is correct

Options :

92090698533. 1
92090698534. 2
92090698535. 3
92090698536. 4

Question Number : 34 Question Id : 92090624937 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TY - 1 : AL B UH YHE Ghadl, 39! fermsfagl o faeg ot
HYA - 1l : U8 I B & 98 371 Uhal §g W URiierd el H UIaT, (el
A 30 Al THIHR DI U (G99 17 SfHar g 9ol difds d4R-4R ui=g [Afga
w0 F I D GHIfois Higls J Fe Sd & 5l |
IRTad &Y & U § FgfiRad el T 3 98t 39 &1 999 Sifor

1. @Y -1 qUT HYF - 1 I Hel g

2. HYA- 1Y HY - 1 S TAd g |

3. ®YF- | el g aichd BYA - 11 Tad g

4. HY -1 7T0d ¢ i Y - 11 TRl 8

Options :

92090698533. 1
92090698534. 2
92090698535. 3
92090698536. 4

Question Number : 35 Question Id : 92090624938 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il
LIST | LIST Il
A. [Kalidas | |. [Kiratarjuniya
B. Bhasa | Il. Mrichchakatika
C. Bharavi | Ill. |Dutavakya
D. [Shudrak] IV. [Kumarasambhav]
A-1V, B-Ill, C-lI, D-I
A-1V, B-Ill, C-1, D-1I
A-lll, B-IV, C-lI, D-I
A-1, B-II, C-1V, D-lII

il o

Options :

92090698537. 1
92090698538. 2
92090698539. 3
92090698540. 4

Question Number : 35 Question Id : 92090624938 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Tt 1 &1 1 F 91y e Sl
gt g 1l

A. [eroier| 1. [FRmssy
B. [HTH Il. (sl
c. MRdl | . [goare
D. Rk | IV. [FHRE™A
A-IV, B-1ll, C-11, D-|
A-IV, B-1ll, C-1, D-I
A-Ill, B-IV, C-1I, D-|

A-l, B-1I, C-IV, D-1I

B i R

Options :

92090698537. 1
92090698538. 2
92090698539. 3
92090698540. 4

Question Number : 36 Question Id : 92090624939 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following rulers started the Vikram Samvat or era?
1. Kanishka
2. Chandragupta - I
3. Chandragupta - |
4. Ujjain ruler called Shakari

Options :

92090698541. 1
92090698542. 2
92090698543. 3
92090698544. 4

Question Number : 36 Question Id : 92090624939 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fafafag auet 7 9 3w dad feus e
1. DiASH

2. TSI

3. A

4. I B AHF S IHR] Hedrar Ul

Options :

92090698541. 1

92090698542. 2

92090698543. 3
92090698544. 4

Question Number : 37 Question Id : 92090624940 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The emblem of Indian nation state is based on:
The Sarnath capital

The Rampurva capital

The Sankissa capital

e L By e

The Vaishali capital

Options :

92090698545. 1
92090698546. 2
92090698547. 3
92090698548. 4

Question Number : 37 Question Id : 92090624940 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRAT AP I BT AP 978 39 W eniRa g.....
YRATY T
B RGBSR
. Hfcpar wanEiy
B Bl R

Options :
92090698545. 1
92090698546. 2



92090698547. 3
92090698548. 4

Question Number : 38 Question Id : 92090624941 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the
other is labelled as Reason (R) :
Assertion (A): The Satavahana rulers strove for the royal ideal set forth in
the Dharamashastras.
Reason (R): The Satavahanas retained some aspects of administrative
structures of Ashokan times.
In the light of the above statements, choose the most appropriate answer
from the options given below:
1. Both (A) and (R) are correct and (R) is the correct explanation of (A)
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of
(A)
3. (A) is correct but (R) is not correct
4. (A) is not correct but (R) is correct

Options :

92090698549. 1
92090698550. 2
92090698551. 3
92090698552. 4

Question Number : 38 Question Id : 92090624941 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Assertion A mmﬁfmmﬁﬂmﬁm Y =TT B
&1 vy o |

Reason R : W#WWWE‘H%@@@G&@W
ELEIN

TR HY & Wb § -1 1338 1 faewedl # 9 aaifie Suged S &l
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. ATYUIRGHI Hel 6 dUIR, A D] Uel AT 6 |

ATIUT R ST TE1 & fdA R, A D] g1 AR Te] &
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Options :

92090698549. 1
92090698550. 2
92090698551. 3
92090698552. 4

BowoNp

Question Number : 39 Question Id : 92090624942 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the
other is labelled as Reason (R) :
Assertion (A): The peak of territorial expansion of Gupta empire was
reached during the reign of Chandragupta - I.
Reason (R): In inscriptions, he has the title maharajadhiraja, and such titles
henceforth became signifiers of imperial power and status.
In the light of the above statements, choose the correct answer from the
options given below:
1. Both (A) and (R) are true and (R) is the correct explanation of (A)
2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
3. (A)is true but (R) is false
4, (A)is false but (R) is true

Options :

92090698553. 1
92090698554. 2
92090698555. 3



92090698556. 4

Question Number : 39 Question Id : 92090624942 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698553. 1
92090698554. 2
92090698555. 3
92090698556. 4

Question Number : 40 Question Id : 92090624943 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion (A) and the
other is labelled as Reason (R) :
Assertion (A): The Chola military expeditions were sent to Srilanka, Malaysia
and Indonesia.
Reason (R): Their aim was to control important trade sectors.
In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both (A} and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is NOT the correct explanation of

(A)
3. (A)is correct but (R) is not correct

4, (A)is not correct but (R) is correct

Options :

92090698557. 1
92090698558. 2
92090698559. 3
92090698560. 4

Question Number : 40 Question Id : 92090624943 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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PRI (Reason R]afﬂﬁ:
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A a1 & dich R TB! T8l £

A el T8l g i R UEl B

Options :

92090698557. 1
92090698558. 2
92090698559. 3
92090698560. 4

BowoN e



Question Number : 41 Question Id : 92090624944 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List 1l

LIST [LisT 1

A. |Diodorus . |indika

B. |Strabo Il. |Geography

C. JArrian I1l. [Natural History

D. |Pliny V. |Librar}f of History
1. A-l, B-ll, C-IV, D-lI

2. A-IV, B-ll, C-l, D-llI
3. A-lll,. B-1, C-lI, D-IV
4. A-ll, B-1, C-ll, D-IV

Options :

92090698561. 1
92090698562. 2
92090698563. 3
92090698564. 4

Question Number : 41 Question Id : 92090624944 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt 1 &1 G 1 & | HeE S -

| SEll

A. [BAERY 1. Bfg®n

B. [T1dl I1. [SOTR®G]

c. gfma | FaRa el

D. [ | 1v. [ase it @]
1. A-l,B-ll, C-IV, D-lll
2. A-IV, B-ll, C-1, D-1ll
3. A-lll,. B-l, C-Il, D-IV
4. A-ll, B-l, C-ll, DIV

Options :

92090698561. 1
92090698562. 2
92090698563. 3



92090698564. 4

Question Number : 42 Question Id : 92090624945 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the
other is labelled as Reason (R) :
Assertion (A): The propagation of Buddhism promoted India's contact with
Srilanka, Myanmar, China and Central Asia.
Reason (R): Buddhist missionaries were sent to Srilanka in the 5" century
B.C.
In the light of the above statements, choose the most appropriate answer
from the options given below:
1. Both (A) and (R} are correct and (R) is the correct explanation of (A)
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of
(A)
3. (A)is correct but (R) is not correct
4. (A) is not correct but (R) is correct

Options :

92090698565. 1
92090698566. 2
92090698567. 3
92090698568. 4

Question Number : 42 Question Id : 92090624945 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=1 g1 %Y §: TP ATYSTa (Assertion A) %Fﬂﬁﬁl@ﬁ%fﬁmm
BRI (Reason m%mﬁl

Assertion A ﬁi@ﬂﬁﬂiﬁﬁﬂ siieienT, AR, 94 ayT 7 U A HRA &
Tra=]l &1 fawR i

ReasonR : 5€|H€|§mqéﬁ?ﬂawaﬁwﬂanﬁf

IR Syl & U1 H A1 el 1 fqwed 7 § waifte Sugead I &1
HIfeTT

. ATUIRGFTHE! § TUIR, A D] TS AT B |

AT R G Hel & it R, AT Hel AT 78] 8

A TEl € Wl R T8I 6 o

A TEl 8] § i R T8 8

oW

Options :

92090698565. 1
92090698566. 2
92090698567. 3
92090698568. 4

Question Number : 43 Question Id : 92090624946 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in correct chronological order:

=

Kalachala grant of king Ishvarata.
Allahabad Prashashti.

Inscription at Tambur.

Inscription of Shaka ruler Rudradaman.

m P p e

. Satvahana inscription recording land grants with tax-exemptions
Choose the correct answer from the options given below:

1. AED CandB

2 B D CEandA

3. ED A BandC

4. EADBandC

Options :

92090698569. 1
92090698570. 2
92090698571. 3
92090698572. 4



Question Number : 43 Question Id : 92090624946 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frofafad &1 Ul &1d HHHER Jafeyd $ife ;
A. AT ST DT DIl Sl

B. SoBlElg U

C. e BT A

D. Y& WS FxaHA B fHTE

E. rddred Sfficd foras #R-gc & 91y YsgH aftfd g
A9 el ) fosedf 9 IR g :

AE,D, CdylB

B,D,C,EdYIA

E,D,A BdUIC

E,A D BAYUIC

ol A

Options :

92090698569. 1
92090698570. 2
92090698571. 3
92090698572. 4

Question Number : 44 Question Id : 92090624947 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List 1l

LIST | ST

A. Pandya l. [Tiger seated under a canopy.

B. [Cholas Il. |Vishnu seated with discus and conch.
C. Vijayanagar Il [Two fish under canopy.

D. |Padma-tanka | IV. |Eight—peta|led lotus

A-ll, B-1Il, C-I, D-IV
A-lll, B-l, C-ll, D-IV
A-ll, B-1, C-1V, D-1lI
4. A-lll, B-Ul, C-IV, D-

el b

Options :

92090698573. 1
92090698574. 2
92090698575. 3



92090698576. 4

Question Number : 44 Question Id : 92090624947 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 &1 0 & 9y e Sife:

et Sl

A. [avsy I, [5T9 U Badl & -1d 931 ¢
B. [aTd II. [Eh Ud T & 1Y oS )
c. [asER . [@Fa3t & A 21 weterr

D. [dGH-EFI IV, |3Fqcl(eight-petalled) HT

1. A-ll, B-lll, C-I, D-IV
2. A-lll, B-l, C-II, D-IV
3. A-ll, B-l, C-1V, DIl
4. A-llI, B-ll, C-IV, D-I
Options :

92090698573. 1
92090698574. 2
92090698575. 3
92090698576. 4

Question Number : 45 Question Id : 92090624948 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement I: In 1863, John Lubbock divided the Stone Age into two parts.
Statement Il: Edouard Lartet divided the palaeolithic into lower, middle and
upper, largerly on basis of changes in fauna.
In the light of the above statements, choose the correct answer from the
options given below:

1. Both Statement | and Statement |l are true

2. Both Statement | and Statement Il are false

3. Statement | is true but Statement |l is false

4. Statement | is false but Statement |l is true

Options :
92090698577. 1
92090698578. 2



92090698579. 3
92090698580. 4

Question Number : 45 Question Id : 92090624948 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U -1 : 1863 H S Fd& = YN0 g7 61 &1 YT | faford faan)

U - 11 : GBIk i FHE W uRad & SR IR USds dlee A RIS SHid
&1, 7, aeg qur 3= ¥ faunford fasan)

IURiad &Y & U | Fafiied Reedl § 8§ 98t SR &1 994 S
Y- 1 AU FYT - 1 g Hel g |

FHUA- 1 U HYF -1 gH A 8 |

HY - | Tal g e HYT - 1 Ted 8

HUF - | TT60d & b1 B - 11 TS B

ol ol

Options :

92090698577. 1
92090698578. 2
92090698579. 3
92090698580. 4

Question Number : 46 Question Id : 92090624949 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

LIST | LIST I
A. |Lower palaeolithic | I. |Ffake tools
B. Middle palaeolithic| Il |M1'cr::rlithic5
C. Upper palaeolithic | lll. |F‘ebb|e and core tools
D. Mesolithic V. |Blade tools
1. A-ll, B-1Il, C-1V, D-I
2. A-ll, B-1vV, C-1, D-HI
3. A-ll, B-NI, C-I, D-1V
4. A-lll, B-l, C-Iv, D-lI
Options :

92090698581. 1



92090698582. 2
92090698583. 3
92090698584. 4

Question Number : 46 Question Id : 92090624949 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 &1 G 1 S I e i
gl | SEIlL
A. ﬁ’HWTﬂTUT I Wﬁhﬁfﬂtﬂake-tnnlsj

B. [FE QRIGTSTOT | 1. [g&s Trem

C. [3= Ram | 1. [ Ud HR (Pebble and core) SER
D. HEIUTHETOT Iv. [Fee- 3R (Blade tools)

A-Il, B-Ill, C-1V, D-|

A-ll, B-IV, C-1, D=l

A-Ill, B-1I, C-1, D-1V

A-l11, B-1, C-1V, D-ll

o ol

Options :

92090698581. 1
92090698582. 2
92090698583. 3
92090698584. 4

Question Number : 47 Question Id : 92090624950 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Bhimbetka hillside is composed of:
Sandstone and acidic soil
Sandstone and chert

Sandstone and quartzite

o By e

Sandstone and limestone

Options :

92090698585. 1
92090698586. 2
92090698587. 3
92090698588. 4



Question Number : 47 Question Id : 92090624950 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hiraesd! 1 ugrel AU &1 8
1. ST IYR IUT 3T HeT
2. SIS TR IYTHE (Chert)
3. ﬁmwwmﬁ{quamite]
4. SRR TYT A YR

Options :

92090698585. 1
92090698586. 2
92090698587. 3
92090698588. 4

Question Number : 48 Question Id : 92090624951 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who was the archaeologist to notice the Bhimbetka rocks out of a train
window?

1. A C.L Carlleyle

2. V.5. Wakankar

3. Yasodhar Mathpal

4. Erwin Neumayer

Options :

92090698589. 1
92090698590. 2
92090698591. 3
92090698592. 4

Question Number : 48 Question Id : 92090624951 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fohd qRIGEdT A U oA &l ass! ¥ indes! & yer] & @
. U ¥l ud. sraigd

. 9. UY. I

. TENER #3YTd

. i AT

Options :

92090698589. 1
92090698590. 2
92090698591. 3
92090698592. 4

= W R

Question Number : 49 Question Id : 92090624952 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in correct chronological order:
First free-standing temple
Buddha represented by symbols
The Mathura style
Inscribed seals
Dravidian style
Choose the correct answer from the options given below:
1. A B C DandE
2. DB C AandE
3. DDA C EandB
4, EA CDandB

mgn @ F

Options :

92090698593. 1
92090698594. 2
92090698595. 3
92090698596. 4

Question Number : 49 Question Id : 92090624952 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafafad &1 98l H1a HHTER afeid i
A. UYH Had =1fud (free-standing) TR

B. g &1 &gl A ufaffga

c. Ay

D. I vl Hard

E. Gfds Sl

Fafelad el 7 3 wel 3R &1 904 S,
A,B C.,DOYUTE

DB C ATUE

DA CEdYUIB

E,A C,DAYUTB

BowoN e

Options :

92090698593. 1
92090698594. 2
92090698595. 3
92090698596. 4

Question Number : 50 Question Id : 92090624953 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the
other is labelled as Reason (R):
Assertion (A): In the north India, the tenth and eleventh centuries saw the
building of many brahmanic temples.
Reason (R): Khajuraho was their principal centre.
In the light of the above statements, choose the correct answer from the
options given below:
1. Both (A) and (R) are true and (R} is the correct explanation of (A)
2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
3. (A)is true but (R) is false
4. (A)is false but (R) is true

Options :

92090698597. 1
92090698598. 2
92090698599. 3
92090698600. 4



Question Number : 50 Question Id : 92090624953 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁ%aﬁiﬂq% : Eﬁfﬂmﬁlﬁ{mSEﬂiﬂnA}a’TWﬁﬁﬁﬁ %ﬂ@:ﬂ?’lm
BRI (Reason H]?ﬁmﬂl

Assertion A : 3TR HRd T 10d] gyl 11§fmﬁmm{hrahmanic]
HfeR &1 A gan

Reason R : @981 376 UHE &% 4T

JURIad Ul & bt H e fad 1 [l & 4 9t 3w &1 904 Sl
A TUTR ST 1 € GUTR, A DI HE TSN |

AT R G Ug1 & Qb R, A DI HEl AN 5|

A Tl § Wi R 7T0d 2

AT & AP R TE B

bt A o o

Options :

92090698597. 1
92090698598. 2
92090698599. 3
92090698600. 4

Question Number : 51 Question Id : 92090624954 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List 1l

LIST | LIST Il
A. [Ravana lifting Mount Kailasa | I. |Gupta (4" cent.)
B. Varaha IIl. [Chola (11" cent.)
C. [Kalya-Krishna ll. Vakataka (5" cent.)
D. [Kalyanasundra Shiva IV. |Pallava-chola (9" cent.)
1. A-lll, B-l, C-IV, D-
2. A-lll, B-Il, C-I, D-IV
3. A-ll, B-l, C-lll, D-IV
4. A-IV, B-I, C-llI, D-II
Options :

92090698601. 1
92090698602. 2
92090698603. 3
92090698604. 4



Question Number : 51 Question Id : 92090624954 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G CUEIE; CIIEEICAE IS L

=l | SELRl

A. [pare udd ol guran] 1. [T (a2 @)

B. [ARTE I [@1d (1291 Ul)

C. [mifergr-gmon I, [@ThTeds (541 W)
D. [Py g Iv. [Ueerd =i (gdl |al)

1. A-lll, B-I, C-IV, D-ll
2. A-lll, B-ll, C-1, D=1V
3. A-ll, B-I, C-11l, D-1V
4. A-IV, B-1, C-lIl, D=1l

Options :

92090698601. 1
92090698602. 2
92090698603. 3
92090698604. 4

Question Number : 52 Question Id : 92090624955 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During Rigvedic age, Ratnahavimshi was part of :
1. Vajapeya sacrifice
2. Soma consumption
3. Rajasuya sacrifice
4. Mandala

Options :

92090698605. 1
92090698606. 2
92090698607. 3
92090698608. 4

Question Number : 52 Question Id : 92090624955 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FIAfEH BT 7 TR FHBT HIT oT:
. AN Oy

. HHuH

. AEREA T

Had

T

Options :

92090698605. 1
92090698606. 2
92090698607. 3
92090698608. 4

Question Number : 53 Question Id : 92090624956 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The term for war in Rigveda is :
1. Dasyus
2. Gavishthi
3. Haoma
4. Bhurja

Options :

92090698609. 1
92090698610. 2
92090698611. 3
92090698612. 4

Question Number : 53 Question Id : 92090624956 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Wﬁﬁﬁg@%ﬁ%%
1. a¥]
2. Tfafg
3. B

4. yd

Options :
92090698609. 1
92090698610. 2



92090698611. 3
92090698612. 4

Question Number : 54 Question Id : 92090624957 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Due to the great famine in Magadha that lasted for 12 years, many Jainas
migrated to south under the leadership of:

1. Sthalabahu

2. Chadragupt Maurya

3. Siddhartha

4. Bhadrabahu

Options :

92090698613. 1
92090698614. 2
92090698615. 3
92090698616. 4

Question Number : 54 Question Id : 92090624957 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y I 12 9] db @ 90 HeH S@HId & BRUI, D] -0 3 590 Aqgd °
af&mr &I uar fdan
1. RITEE
2. A A
3. Rignd
4. Hadlg
Options :
92090698613. 1
92090698614, 2

92090698615. 3
92090698616. 4

Question Number : 55 Question Id : 92090624958 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following in correct chronolegical order:
Conquest of Kalinga by Ashoka.

The Maurya empire destroyed by Pushyamitra Shunga.
The Nandas of Magadha conquered Kalinga.

The Great wall of China was constructed.

mo N ® P

Steel objects found in mid-Gangetic plains.

Choose the correct answer from the options given below:
1. AAC D, BandE

2. B,D E CandA

3. (B A DandE

4. C A D EandB

Options :

92090698617. 1
92090698618. 2
92090698619. 3
92090698620. 4

Question Number : 55 Question Id : 92090624958 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fofafad &1 98 B HaHAR aiyd S
A. S GRI e St fderg

. Ui Q1 g R R H &1 A

C. WY & gl BI Hici & (i

D. HF &1 HEM SIdR o1 Aoy

E. Te TR A5 H 33010 &1 asgai &) uifed
Fafeiad el ¥ 3 Wel SvR &1 909 S
A, C,D BTYE

B,D,E,CdUlA

C,B A DTYUIE

C,A D EdYIB

2

BowoN e

Options :

92090698617. 1
92090698618. 2
92090698619. 3
92090698620. 4



Question Number : 56 Question Id : 92090624959 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During the Pre Mauryan times the village headmen were known by variety of
titles. Which of the following are correct?

A. Gramabhojaka

Gramparadhan

Gramini

Gramikas

moa®

Ayuktas

Choose the correct answer from the options given below:
1. A, BandC

2. A CandE

3. BDandE

4 A CandD

Options :

92090698621. 1
92090698622. 2
92090698623. 3
92090698624. 4

Question Number : 56 Question Id : 92090624959 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A gd &Tat & 98 & g o fafir Iuiitrt & s orar o1 Fefafea J 9
CAER: R R
A. TTHYISE
. UTH-UYH
I
Pl
. SIS
4 o T fawedl § @ wEt SR AT
1. Had A, BIYUIC
2. Had A, CTUTE
3. &ddB, DAYUE
4. PHdd A, CTYID

we]



Options :

92090698621. 1
92090698622. 2
92090698623. 3
92090698624. 4

Question Number : 57 Question Id : 92090624960 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As per Tamil tradition, where was third Sangam held?
1. Madurai
2. Korkai
3. Vanji
4. Tanjore
Options :
92090698625. 1
92090698626. 2

92090698627 3
92090698628. 4

Question Number : 57 Question Id : 92090624960 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ATHE YR & SFHR, R STH Fel g1 Ul

BEAH]
HRPs
GIGE]

RECIR

Options :

92090698625. 1
92090698626. 2
92090698627. 3
92090698628. 4

il B

Question Number : 58 Question Id : 92090624961 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The capital of the Pandya kingdom was :
Badami

Vaigai

Tiruchirapalli

Madurai

-l

Options :

92090698629. 1
92090698630. 2
92090698631. 3
92090698632. 4

Question Number : 58 Question Id : 92090624961 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TUEE I T et
e

IR
IGEIECIE G

LS

Options :

92090698629. 1
92090698630. 2
92090698631. 3
92090698632. 4

il

Question Number : 59 Question Id : 92090624962 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which inscription throws light on Kushana geneology?
1. Ujjain Inscription
2. Nasik Inscription
3. Rabatak Inscription
4.

Malwa Inscription

Options :

92090698633. 1
92090698634. 2
92090698635. 3



92090698636. 4

Question Number : 59 Question Id : 92090624962 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698633. 1
92090698634. 2
92090698635. 3
92090698636. 4

Question Number : 60 Question Id : 92090624963 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Kautilya talks about strict control over markets and trade. Which of the
following official was in-charge of trade?
1. Shunyanivesha

2. Panyadhyasha
3. Sansthadhyaksha
4. Sutradhayaksha

Options :

92090698637. 1
92090698638. 2
92090698639. 3
92090698640. 4

Question Number : 60 Question Id : 92090624963 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698637. 1
92090698638. 2
92090698639. 3
92090698640. 4

Question Number : 61 Question Id : 92090624964 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A bilingual, Greek-Aramanic inscription of Ashoka was found at
1. Kandhar
2. Peshawar
3. Mansehra
4. Girnar

Options :

92090698641. 1
92090698642. 2
92090698643. 3
92090698644. 4

Question Number : 61 Question Id : 92090624964 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
92090698641. 1



92090698642. 2
92090698643. 3
92090698644. 4

Question Number : 62 Question Id : 92090624965 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who refers to Shiva as a three-eyed God, bears the crescent moon on his
matted locks and had Uma as his consort?
1. Vima
2. Andal
3. Nakkirar
4. Akananuru

Options :

92090698645. 1
92090698646. 2
92090698647. 3
92090698648. 4

Question Number : 62 Question Id : 92090624965 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698645. 1
92090698646. 2
92090698647. 3
92090698648. 4

Question Number : 63 Question Id : 92090624966 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who was an epigraphist to publish books on Ashoka and ancient Indian
Political Institutions?

1. P.V. Kane

2. D.R. Bhandarkar

3. Hemachandra Raychaudhuri

4. R.C. Majumdar

Options :

92090698649. 1
92090698650. 2
92090698651. 3
92090698652. 4

Question Number : 63 Question Id : 92090624966 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698649. 1
92090698650. 2
92090698651. 3
92090698652. 4

Question Number : 64 Question Id : 92090624967 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who questioned the wisdom of looking at ancient Indian from the modern
point of view?

1. A. L Basham

2. D.D. Kesambi

3. K. P.Jayaswal

4. V. A Smith



Options :

92090698653. 1
92090698654. 2
92090698655. 3
92090698656. 4

Question Number : 64 Question Id : 92090624967 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698653. 1
92090698654. 2
92090698655. 3
92090698656. 4

Question Number : 65 Question Id : 92090624968 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct statements:
A. Economic History of Ancient India is written by R. K. Chaudhary.
B. Origin and Development of Vaishnavism is authored by Suvira Jaiswal.
C. K. M. Panikar wrote Political History of Ancient India.
D. R. N. Nandi wrote Social Roots of Religion in Ancient India.
E. D.R. Chanana compiled Geographical factors in Indian History.
Choose the correct answer from the options given below:

1. A,BandD

2. A BandE

3. ACandE

4 B DandE

Options :
92090698657. 1
92090698658. 2



92090698659. 3
92090698660. 4

Question Number : 65 Question Id : 92090624968 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698657. 1
92090698658. 2
92090698659. 3
92090698660. 4

Question Number : 66 Question Id : 92090624969 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement I: In second century A. D. India produced two famous scholars of
Ayurveda.
Statement II: Sushrutasamhita lays special stress on diet and cleanliness.
In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement Il is incorrect

4. Statement | is incorrect but Statement Il is correct

Options :



92090698661. 1
92090698662. 2
92090698663. 3
92090698664. 4

Question Number : 66 Question Id : 92090624969 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698661. 1
92090698662. 2
92090698663. 3
92090698664. 4

Question Number : 67 Question Id : 92090624970 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As at most Mesolithic rock art sites, animals dominate the scenes at
Bhimbetka. How many species are depicted here?

1. 29 species

2. 11 species

3. 69 species

4. 41 species

Options :

92090698665. 1
92090698666. 2
92090698667. 3
92090698668. 4



Question Number : 67 Question Id : 92090624970 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698665. 1
92090698666. 2
92090698667. 3
92090698668. 4

Question Number : 68 Question Id : 92090624971 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is known as dhammachakka pavattana in Buddhism?
1. The Buddha wandered around teaching his doctrine.
2. The Buddha gave his first sermon on deliverance from suffering.
3. A young woman offering him (the Buddha) a bowl of milk-rice.
4. The Buddha's attainment of nibana.

Options :

92090698669. 1
92090698670. 2
92090698671. 3
92090698672. 4

Question Number : 68 Question Id : 92090624971 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698669. 1
92090698670. 2
92090698671. 3
92090698672. 4

Question Number : 69 Question Id : 92090624972 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In most of his edicts Ashoka is referred by two titles, Devanampiya and
Piyadasi. Versions of Minor Rock Edict-I contained the personal name of the
king — Ashoka, it was first found at :
1. Topara
Maski

2.
3. Lauriya-Nandangarh
4. Rampurva

Options :

92090698673. 1
92090698674. 2
92090698675. 3
92090698676. 4

Question Number : 69 Question Id : 92090624972 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698673. 1
92090698674. 2
92090698675. 3
92090698676. 4

Question Number : 70 Question Id : 92090624973 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List 1 with List II

LIST | [LisT 1

A. [Dhamma - Mahamatas |. |Related to women's welfare

B. |[Anta - Mahamatas ll. {Associated with city administration

C. [ittijhakka - Mahamatas lll. [Related to religion

D. [Nagalaviyahalaka - Mahamataq IV. [Related to the frontier areas
1. A-lll, B-1V, C-|, D-lI
2. A-lll, B-l, C-ll, D-IV
3. A-lll, B-IV, C-lI, D-
4. A-IV, B-ll, C-l, D-1lI

Options :

92090698677. 1
92090698678. 2
92090698679. 3
92090698680. 4

Question Number : 70 Question Id : 92090624973 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-lll, B-IV, C-l, D-1I

2. A-ll, B-l, C-1l, D-IV

3. A-Il, B-IV, C-lI, D-|

4. A-lv, B-ll, C-1, D-1l
Options :

92090698677. 1
92090698678. 2
92090698679. 3
92090698680. 4

Question Number : 71 Question Id : 92090624974 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement I: Two kinds of states are included in the list of mahajanapadas -
monarchies (rajyas) and non-monarchical states known as ganas and
sanghas.
Statement Il: The ganas and sanghas were oligarchies, where power was
excercised by a group of people.
In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement Il is incorrect

4. Statement | is incorrect but Statement Il is correct

Options :

92090698681. 1
92090698682. 2
92090698683. 3
92090698684. 4



Question Number : 71 Question Id : 92090624974 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698681. 1
92090698682. 2
92090698683. 3
92090698684. 4

Question Number : 72 Question Id : 92090624975 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to the Dipavamsa and Mahavamsa, how many years elapsed
between the Parinibbana (Buddha's death) and Ashoka's consecration?
1. 544
2. 218
3. 368
4, 254

Options :

92090698685. 1
92090698686. 2
92090698687. 3
92090698688. 4

Question Number : 72 Question Id : 92090624975 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

AR YT HEEY & HTHR, URFAET (G2 6 Jd) 94T 32d & TREY &
g fod- ol @1 v U

1. 544

2. 218

3. 368

4. 254

Options :

92090698685. 1
92090698686. 2
92090698687. 3
92090698688. 4

Question Number : 73 Question Id : 92090624976 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct statements:

A. Gupta kings issued large number of gold coins.
These didn't bear the names and epithets of kings.
Some Gupta rulers also issued silver coins.

Copper coins of Gupta are rare.

mo N ®

Any image of any deity is not available on Gupta coins.
Choose the correct answer from the options given below:
1. B,Cand D
2. A DandE
3. A BandE
4 A CandD

Options :

92090698689. 1
92090698690. 2
92090698691. 3
92090698692. 4

Question Number : 73 Question Id : 92090624976 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698689. 1
92090698690. 2
92090698691. 3
92090698692. 4

Question Number : 74 Question Id : 92090624977 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The legendary hero living in Western India known as Krishna Vasudeva,
belonged to which tribe?

1. Vrishni
2. Bhoja
3. Kuru
4. Puru
Options :
92090698693. 1
92090698694. 2

92090698695. 3
92090698696. 4

Question Number : 74 Question Id : 92090624977 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698693. 1
92090698694. 2
92090698695. 3
92090698696. 4

Question Number : 75 Question Id : 92090624978 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in chronological order:

A. Final composition of the sangam literature.

B. Cultural and economic contact between the north and deep south
known as Tamizhakam.

C. The beginning of the megalithic culture.

D. Discovery of Monsoon.

E. The Cholas re-emerge as an important power.

Choose the correct answer from the options given below:
1. BBD.ACE
2. C,D AERB
3 B DB AE
4. EDBCA

Options :

92090698697. 1
92090698698. 2
92090698699. 3
92090698700. 4

Question Number : 75 Question Id : 92090624978 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698697. 1
92090698698. 2
92090698699. 3
92090698700. 4

Question Number : 76 Question Id : 92090624979 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct statements:
A. Harsha sent a great army against Maukhari king.
B. Harsha began his reign in A. D. 606.
C. Harsha was unable to expand his power in Deccan.
D. Harsha was defeated by Pulakeshin II.
Choose the correct answer from the options given below:
1. A,BandC
2. BCandD
3. ACandD
4, A BandD

Options :

92090698701. 1
92090698702. 2
92090698703. 3
92090698704. 4



Question Number : 76 Question Id : 92090624979 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698701. 1
92090698702. 2
92090698703. 3
92090698704. 4

Question Number : 77 Question Id : 92090624980 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the
other is labelled as Reason (R):
Assertion (A): There was reciprocal interaction between the elites of South,
Southeast and East Asia.
Reason (R): A trade mission was sent by Rajaraja Chola to China in 1018.
In the light of the above statements, choose the most appropriate answer
from the options given below:
1. Both (A) and (R) are correct and (R) is the correct explanation of (A)
2. Both (A) and (R) are correct but (R} is NOT the correct explanation of
(A)
3. (A)is correct but (R) is not correct
(A) is not correct but (R) is correct

Options :
92090698705. 1
92090698706. 2



92090698707. 3
92090698708. 4

Question Number : 77 Question Id : 92090624980 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698705. 1
92090698706. 2
92090698707. 3
92090698708. 4

Bow N

Question Number : 78 Question Id : 92090624981 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List li:
List | List Il

A. [Buddhist missionaries sent to Srilanka| |. [56 A.D.
B. |[Earliest Indian settlement in Java. 1. 3 CB.C.
C. [The Kingdom of Kamboja founded. | Ill. [8""C A.D.
D. |Construction of Borobudur temple. | IV. |ﬁ'-hC A.D.

1. A-l, B-1l, C-lIl, D-IV

2. A-ll, B-IV, C-llI, D-I

3. A-ll, B-l, C-1V, D-llI

4. A-lll, B-1V, C-|, D-lI

Options :



92090698709. 1
92090698710. 2
92090698711. 3
92090698712. 4

Question Number : 78 Question Id : 92090624981 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt 1 &1 G u & G e i
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D. [SRI geruiI d1Fmio | iv. 631 &l 5]

1. A-l, B-lI, C-1l, D-1V
2. A-ll, B-IV, C-lll, D-|
3. A-ll, B-l, C-IV, D=
4. A-ll, B-Iv, C-I, D-II

Options :

92090698709. 1
92090698710. 2
92090698711. 3
92090698712. 4

Question Number : 79 Question Id : 92090624982 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who amongst the following was the Chinese traveller to visit Java?
1. H. Tsang
2. |. Tsang
3. Fa-hsien
4. Tun Huang

Options :

92090698713. 1
92090698714. 2
92090698715. 3
92090698716. 4



Question Number : 79 Question Id : 92090624982 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FrafRea o 3 oma &1 a1 &3 aral 9i-] gl &1 Y17
-C ki

el

g-goim

=T T

Options :

92090698713. 1
92090698714. 2
92090698715. 3
92090698716. 4

Question Number : 80 Question Id : 92090624983 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the
other is labelled as Reason (R):
Assertion (A): Voyages to South-east part of Asia were encouraged for
search of spices.
Reason (R): Legends about the origin of kingdoms in South-east Asia often
trace the story back to Indian princes and merchants.
In the light of the above statements, choose the most appropriate answer
from the options given below:
1. Both (A) and (R) are correct and (R) is the correct explanation of (A)
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of
(A)
3. (A)is correct but (R) is not correct
4. (A)is not correct but (R) is correct

Options :

92090698717. 1
92090698718. 2
92090698719. 3
92090698720. 4



Question Number : 80 Question Id : 92090624983 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁam% : WM{MSEﬁiDﬂA}%WﬁﬁT@H %ﬂwm
PRI (Reason R]a‘?F’IﬂI

Assertion A mﬁﬁmﬁmaﬁm w@ﬁ@aﬁﬁ’m@aﬁ
It

Reason R : Sieb4T3{1 & U af&ror gd uflr & I & 3ngey & aR o
Hellal URd TTHURT a1 AaRal § 92l g

IR Sl & U B A fol 7 fdeed] 4 walftes Sugead I &1
Hifor:

. ATYTRGHFI TR € TUIR, A D TE! AT B |

A TYT R GIFT 981 & AT R, A DI Hal ARAT 8l 6

A g1 S R ST LT 21

A el gl & dfFI R Ul B

BowoN e

Options :

92090698717. 1
92090698718. 2
92090698719. 3
92090698720. 4

Question Number : 81 Question Id : 92090624984 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in correct chronological order;
A. Die-stuck indo-Greek coins.
B. The Kshatarapa ruler Nahapana introduced a silver currency in Nasik
region.
C. Die-stuck coins.
D. Gold coins of Kushanas.
E. Well-executed die-stuck gold coins with metrical legends in Sanskrit.
Choose the correct answer from the options given below:
1. B,E A, DandC
2. C,A D BandE
3. DDE A BandC
4 EBACandD

Options :



92090698721. 1
92090698722. 2
92090698723. 3
92090698724. 4

Question Number : 81 Question Id : 92090624984 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafad &1 F1d AR Jayd Bife

A, BT ﬂdie-stucklé@lwmt

B. TRY® &7 H &fU YIE 15U gRI Fid] &1 Y&l H1 S|

c. 3WET {die-stuckJﬁTﬁ?I

D. UV & T & Riab |

E. &E‘ﬁﬂﬁmwmﬁﬁ[die-stuck}m%mﬁﬂqmmﬁ
PHEG Sfaadl sifFd gl

Fafefad faseal & 9 98 S &1 94 Sif

B,E,A DAYIC

C A DBUYUE

D,E A BAYUIC

E,B,A CddlD

el o il S

Options :

92090698721. 1
92090698722. 2
92090698723. 3
92090698724. 4

Question Number : 82 Question Id : 92090624985 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: The middle palaeolithic industry is located in central and
peninsular India.

Statement II: H. D. Sankalia first discovered the Nevasan industry.

In the light of the above statements, choose the correct answer from the
options given below:

Both Statement | and Statement Il are true

Both Statement | and Statement |l are false

Statement | is true but Statement |l is false

ol LR

Statement | is false but Statement Il is true

Options :

92090698725. 1
92090698726. 2
92090698727. 3
92090698728. 4

Question Number : 82 Question Id : 92090624985 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR FFERITEE

HYA - 1 - T U] BTt I Hed Tl Urha g HRd 5 fRyd g1

HY - 11 : T UG UH. S 1l A Aara I &1 @il 3|
Iuiad FYAl & UHTY # Fafaiad [deedl § 9 9el 39 &1 994 S
HYF - | AU HY - 11 I TS |

YA - | AU HYT - 11 SF T €
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FYA - | 7T0d € AP YA - 1 Hel g
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Options :

92090698725. 1
92090698726. 2
92090698727. 3
92090698728. 4

Question Number : 83 Question Id : 92090624986 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement |: Gudiyam cave has yielded a sequence of lower, middle and
upper Palaeolithic tools.
Statement |I: Attirampakkam site was discovered in 1860.
In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement |l is incorrect

4. Statement | is incorrect but Statement Il is correct

Options :

92090698729. 1
92090698730. 2
92090698731. 3
92090698732. 4

Question Number : 83 Question Id : 92090624986 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R Py feumue:

TUT -1 - ST IH I Y, 7y qy1 3= GRS STl SR B HH Wi
gall

FUA - 11 : SRIRIUTHH R B Giol 1860 F g3

FRIT HYF & i 1, -4 U fade] o 3 9ad Iugad 3w &1 954
Hifre:

1. BYT- 1 U HYA - 1 S T8l gl

2. FUA- 1 TUHYF - 1 SFI Tad 6 |

3. Y- el g AfFA HYF - 1 Tad g

4. TUA- 17T & AfFA HY -1 Fol gl
Options :

92090698729. 1
92090698730. 2
92090698731. 3
92090698732. 4

Question Number : 84 Question Id : 92090624987 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

The earliest evidence of the demostication of animals in India is:
24000 BC

34000 BC

7000 BC

5000 BC

P 0 b A

Options :

92090698733. 1
92090698734. 2
92090698735. 3
92090698736. 4

Question Number : 84 Question Id : 92090624987 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR H 9 &1 Urag 891 & UrR=aH TH E -
24000 $91Qd
34000 S8 qd
7000 9T gd
5000 391 gd

Options :

92090698733. 1
92090698734. 2
92090698735. 3
92090698736. 4

e e

Question Number : 85 Question Id : 92090624988 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following was a center of stone tool manufacture?
Gudiyam cave

Adamagarh hill

Bhimbetaka

lsampur

o By e

Options :
92090698737. 1



92090698738. 2
92090698739. 3
92090698740. 4

Question Number : 85 Question Id : 92090624988 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fAafefEd | 9 &1 91, U U 3ieR FAai &1 & un
. ST

JHTSHITG YBT3l
Hinded]

SUHR

BowoNop

Options :

92090698737. 1
92090698738. 2
92090698739. 3
92090698740. 4

Question Number : 86 Question Id : 92090624989 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement I: During Gupta period, sculpture reached its highest
development.
Statement II: The Gupta period (fourth to the fifth centuries) was truly
classic period of Indian art.
In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4

Statement | is incorrect but Statement Il is correct

Options :

92090698741. 1
92090698742. 2
92090698743. 3
92090698744. 4



Question Number : 86 Question Id : 92090624989 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s AmE;
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S B

Options :

92090698741. 1
92090698742. 2
92090698743. 3
92090698744. 4

Question Number : 87 Question Id : 92090624990 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in chronclogical order :

Girl carrying a plate of food (Mathura).
Terracotta mother-goddess from Mohenjodaro.
Ganga mounted on a Makara (Orissa).

Gandhara receiving ganga on his locks (Tiruchirapalli).

monNn®m >

Ganga under the wish-fulfilling tree (Bengal).
Choose the correct answer from the options given below:
1. A B, D CandE
2. B,C D AandE
3. BA D CandE
4 B A CDandE
Options :
92090698745. 1

92090698746. 2
92090698747. 3



92090698748. 4

Question Number : 87 Question Id : 92090624990 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FofeRad &1 $1d AR Jafyd Sifet:

. U @ B I @ Tl g3 dsd] (HYR)|
. HigAuiige! ¥ Arged! &1 gugfd|

. WIRYES YT HAR T (IS |

. T 1 S0 & H T80T Hd §U TR (BRI |
%91 31 A a1dl g8 & g TR (@) |
ﬁuﬁﬁaﬁa@ﬁﬁﬂﬁmmwaﬂﬁn
A B D CdUlE
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B,A D CdUlE

B,AC, DAY E

m o 0 W >

powoN R

Options :

92090698745. 1
92090698746. 2
92090698747. 3
92090698748. 4

Question Number : 88 Question Id : 92090624991 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the correct statements :

A. The Tiruvellarai inscription of Dantivarman offers a fine example of early
Tamil.

B. The most beautiful Chola script dates from end of 9" century.

C. Rajendra Chola's Tiruvalangadu plates show the typical eleventh century
Chola script.

D. The earliest tamil script is at Kailasanatha

E. Vijayanagar inscription show the final stage of Tamil script.

Choose the correct answer from the options given below:
1. A Band Conly
2. A Cand D only
3. A Cand Eonly
4. B,Dand E only

Options :

92090698749. 1
92090698750. 2
92090698751. 3
92090698752. 4

Question Number : 88 Question Id : 92090624991 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el Y1 &l UggH Hifde:
A. Ear &1 fdEadeTs sfiera URM afitia &1 U g 3eEIm
PISGERGIN]
B. oY Yrax I foifd &1 90y odi el & Sfd A g
C. ol Aid o foReddiTg s, 11d1 96l & ursits 9id il iRara g |
p. UrdHan afta foft Sawy AR 7 8
E. fao R sifterg aff faft &1 sif<m 9o R g1
A4 8 72 fashedl 7 @ wel IR 9T o
1. Sdd A, BTYUIC
2. Had A, CcTUID
3. PHad A, CAUTE
4. Had s, DUYE

Options :

92090698749. 1
92090698750. 2
92090698751. 3



92090698752. 4

Question Number : 89 Question Id : 92090624992 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The word Upanishad literally means :
1. To sit near someone
2. To preach
3. The higher
4. To liberate

Options :

92090698753. 1
92090698754. 2
92090698755. 3
92090698756. 4

Question Number : 89 Question Id : 92090624992 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

QUNE Weg, H1 YMfead Y8 -
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Options :

92090698753. 1
92090698754. 2
92090698755. 3
92090698756. 4

Question Number : 90 Question Id : 92090624993 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Jaina monastic establishments are called :
Vihara

Mandal

Basadis

Matha

P 2 B oA

Options :

92090698757. 1
92090698758. 2
92090698759. 3
92090698760. 4

Question Number : 90 Question Id : 92090624993 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698757. 1
92090698758. 2
92090698759. 3
92090698760. 4

Question Number : 91 Question Id : 92090624994 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the correct statements:
A. The works of Kalidasa, Bhavabhuti and Bana are indispensable aids for
comprehending artistic iconography.
B. Sanskrit language can't be used to interpret art.
C. Mayamata helps to illuminate Indian art.
D. Sangitaratnakara helps to understand Indian art.
Choose the correct answer from the options given below:
1. A, BandC
2. A Cand D
3. BCand D
4 A BandD
Options :
92090698761. 1
92090698762. 2

92090698763. 3
92090698764. 4

Question Number : 91 Question Id : 92090624994 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el YT B UgaH B
A. DS Hidbal o gHgH P ol Siefier, Hayfd au1 &1 & s
3uREr g
B. &l Bl AT HRA & [ ¥ HTHT &1 WG g1 8l Hhal |
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4 e 7 fasedt © 9§ et ST g
1. Had A BTYUIC
2. Had A, CTYID
3. $Hdda s, CcAYID
4. $AAA BTAYD

Options :

92090698761. 1
92090698762. 2
92090698763. 3
92090698764. 4



Question Number : 92 Question Id : 92090624995 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct statements:
A. The terms nishka and satamana are taken to be names of coins.
B. The earliest coins were made largely of silver.
C. Coins are called punch-marked because they were punched with certain
marks.
D. In Mauryan times only cast coins were used.
E. The earliest hoards of coins have been found in Gujarat and Rajasthan.
Choose the correct answer from the options given below:
1. A,BandC
2. A, Cand D
3. C,DandE
4. B CandE

Options :

92090698765. 1
92090698766. 2
92090698767. 3
92090698768. 4

Question Number : 92 Question Id : 92090624995 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
92090698765. 1



92090698766. 2
92090698767. 3
92090698768. 4

Question Number : 93 Question Id : 92090624996 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The seven-hooded naga image was found at
Mathura

Rajagriha

Ujjain

P G ok A

Pawaya

Options :

92090698769. 1
92090698770. 2
92090698771. 3
92090698772. 4

Question Number : 93 Question Id : 92090624996 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698769. 1
92090698770. 2
92090698771. 3
92090698772. 4

Question Number : 94 Question Id : 92090624997 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following was a premier port of Chera kingdom?
Karuvur

Puhar

Tondi

Korkai

dacdar B -

Options :

92090698773. 1
92090698774. 2
92090698775. 3
92090698776. 4

Question Number : 94 Question Id : 92090624997 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698773. 1
92090698774. 2
92090698775. 3
92090698776. 4
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Question Number : 95 Question Id : 92090624998 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Satavahana empire was divided into a number of large administrative
divisions known as :
1. Maharathi
2. Mahabhojas
3. Aharas
4. Khanda

Options :
92090698777. 1



92090698778. 2
92090698779. 3
92090698780. 4

Question Number : 95 Question Id : 92090624998 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698777. 1
92090698778. 2
92090698779. 3
92090698780. 4

Question Number : 96 Question Id : 92090624999 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Puranas, who was the last Shunga ruler?
1. Vasudev
2. Antialkidas
3. Bhagavata
4. Devabhuti

Options :

92090698781. 1
92090698782. 2
92090698783. 3
92090698784. 4

Question Number : 96 Question Id : 92090624999 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698781. 1
92090698782. 2
92090698783. 3
92090698784. 4

Question Number : 97 Question Id : 92090625000 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which text describes Chandragupta as son of the daughter of a chief of a
village of peacock tamers (mayura-poshakas)?

1. Mahavamsa

2. Digha Nikaya

3. Parishishtaparvan

4. Mudrarakshasa

Options :

92090698785. 1
92090698786. 2
92090698787. 3
92090698788. 4

Question Number : 97 Question Id : 92090625000 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2. e
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Options :



92090698785. 1
92090698786. 2
92090698787 3
92090698788. 4

Question Number : 98 Question Id : 92090625001 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is the lowest category of animals and plants as per
the Jaina doctrine?
1. Tiryancha
2. Nigodas
3. Naraki
4. Sthavara
Options :
92090698789. 1
92090698790. 2

92090698791. 3
92090698792. 4

Question Number : 98 Question Id : 92090625001 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698789. 1
92090698790. 2
92090698791. 3
92090698792. 4

Question Number : 99 Question Id : 92090625002 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is not a Puranic epithet of Shiva?
Gangadhara

Ardhanarishvara

Shankara

Rudra

oo

Options :

92090698793. 1
92090698794. 2
92090698795. 3
92090698796. 4

Question Number : 99 Question Id : 92090625002 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698793. 1
92090698794. 2
92090698795. 3
92090698796. 4

Question Number : 100 Question Id : 92090625003 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Vedic Age, a gestation rite was called:
1. Jaya
2. Samskara
3. Pumsavana
4. Yosha

Options :
92090698797. 1
92090698798. 2



92090698799. 3
92090698800. 4

Question Number : 100 Question Id : 92090625003 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698797. 1

92090698798. 2

92090698799. 3
92090698800. 4
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